More Balancing Practice

) l. l Ba +_\K20-—> \_Ba0+ l_K

[
2. 1 S+ 802—+ QSO

3. L cHo+ b 0 . 2 co,+ _2._ﬁ;0‘ |

4. | P05+ 5 BaCl, » 35 BaO + _ 2 FeCl,
s. { _Caco; — \ cao +_ ! co,

6. L KCiOs — T Kl + 9 0,

7. L Al+ 3 rF0 — L ALO, ++ 3 Fe

8.___l_CaC12 +_L AgNO; » & AgCl+ ! caoy),
|
; 9._ Lo Na+ _ L ALOs — _ 3Na0 + _Z Al
10.__5_"Na + Lloz — 4_14320
11. K + 1cCl— _?—_Kél .

12 2 W0, - T H0 + _\ 0

3.V o, + 20, - U co+ 2 HO
4. 5 AgNO, + | AICK — 3 AgCl+ | AI(NOy);

15, 2. (NH):PO, + 2 Mg(NO3), —  Mgy(POy), + (o NH,NO;
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Write balanced equations for the following reactions.

Copper (1) carbonate forming copper (II) oxide and carbon dioxide.
. : |
L Guloy — L0 + L Co,
Nickel (I) oxide reacting with sulfuric acid (H,80,) to form nickel (I} sulfate and water.

NGOy A HeSoy = LN soq 4+ L HLo

Iron and bromine reacting to give iron(I11) bromide.

EFe +30,—52Fen,,

Lead (IV) oxide and carbon monoxide forming lead metal and carbon dioxide.

\
— L0,y E2Co— Lpy, 4+ 2 Co,

Iron (11} chloride reacting with chlorine to form iron (I11) chloride.

.E—Fe_C,[z 4 ._‘_C/\?__"‘? .-Z-. FLC,\3

Ethanol (C;HsOH) burning in air (0,) to form carbon dioxide and water.

LCZH@O'}.st'_S)—%C/OZ’ ""é"’(’zo

Silver reacting with nitric acid (HNOs) to form silver nitrate and nitrogen dioxide and water.
L &g r LHNo— L AgNog +ENo, sLH. o
Manganese (IV) oxide reacting with hydrochloric acid (HCI) to form manganese (II) chloride and chlorine and water.

_I_MnO-L } __L_LHC/| "%__3_ m.n(,\fz '}.__..(. Clz ‘}*L_H'LG

Sulphur dioxide reacting with hydrogen sulfide (H,S) to form sulphur and watet.

— D09 * _2_,)—\7/3 3532 H,o

Ammonia (NH;;) reacting with oxygen to form nitrogen monoxide and water,

MNH, v S0, = N6 L Heo
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